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1. VEHR F@acd GO@de! hid AIHeS IR fegd o1 ?
(a) T AgETr 35

(b) SR HeheH

(cy Tmior TRt

vy farem Froe

(1) WK (a) 3ufor (b) (2) e (b) 3 (c)
(3) (a). (b) 3T () (4) I (a) S (o)

Which of the following is favourable effect of Co-operative movement ?
(a) Emergence of rural leadership

(b) Collection of savings

(¢) Rural industrialization

Choose carrect options :

(1) only (a) and (b) (2) only (b) and (c)

®) () (b and (0 @) only (a) and (c)

2, I YRATEEd €T el TR TSOUE! HI0 aeis i o ?

1) vicaemE™ a& , (2) wHEEREE T

(3) CEHWEN T (4) OHE FHSERN T

Pandit Nehru's vision of the New India was described as :

(1) Principle of capitalism (2) Principle of socialism

(3) Principle of military rule (4) Principle of democratic socialism

3., W.WWEW%@W@W%WW&MW
(1) 2 wATaRER 2011 (2) 15 WgaER! 2012
(3) 26 WPERY 2013 @ 14 o 2014

To reduce the interference of government and political factors in co-operative sector the
central Government suggested to implement 97th constitutional amendment from

(1) 2 October 2011 ' (2) 15 February 2012
(3) 26 January 2013 (4) 14 April 2014
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4., TERRRIC Hehll T@66 SR Tee faum faamm =1,
(a) WRNIEME Hehil Joaedl oar Wi Il Tadee=a1 e+ 1910 9L e, -
(b) 3R foeRIdie wau 49 leel HewRl ARl FILEHl 1960 TEd TU9T HIo.
(c) HEHEl R =T TIY 1989 HEA HIGH.
et SR/l faur/ ser /a2
(1) (@3 b) 2 B @) @& (4) T (a)

Consider the following statements regarding Co-operative movement in Maharashtra.

(a) The Co-operative Movement in Maharashtra started in 1910 with the establishment
of primary agricultural credit societies.

(b) TheFirst Sugar Co-operative, Pravara was established in 1960 in Ahmednagar district.

(c) Mahananda dairy was established in 1989.

Which of the statement/s given above is/are correct ?

(1) (a) and (b) (2) (b)and (9) (3) (a) and () (4) Only (a)

5. WPelE T TEe U Gehrl Fiat §ea1 FHvr fawrs &M 3 ?
(1) T Weshrl fawm Temgs (NCDC).
(2) GEHNI YUF HEAL
(3) U FH! U GEhE €9 (NAFED).
(4) 3§y faw™@ €4 (DDB).
Which of the following National level co-operative apex institution works for agricultural
marketing ?
(1) National Co-operative Development Corporation (NCDC).
(2) Co-operative Marketing Agency.
(3) National Agricultural Co-operative Marketing Federation (NAFED).
(4) Dairy Development Board (DDB).

6. WHRA RamReed TS RO HEwARTTG e Sa@ iy R,
(a) =AUR 0 Wisae YR GURIT  (b)  WiEde frEA

(c) Todita arsma gumon (d) =EER T feudia guron

FOSUHT 01/ U ST AL/ ? |

1) @9 (2) (b)d(d) 3) (@)= (b) 4) B9

The structural adjustment programme adopted by the Government consists of the following
measures. :

(a) Trade and capital flows reforms (b) Control of inflation

(c) Financial sector reforms (d) Improving the balance of payment position
Which of the measure/s given above is/are correct ?

) @and@ (2 @and(d) () @and(®) (@) (b)and (0
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7. e ISR ToE GieatEt I Sewigh Siadl a9 ?
(a) TR faasumdl |=pl/ 97k,
(b) Hefex o SFHHed 4= HMW FOA FHOL
(c) et fgd anfor dan e fhesumr TSR w4l
(d) T snfer Siviearer enemfa HETUE SR,

T 3

(1) (@), (b) 3 (c) =H (2) (a), () 3Tftn (d) &eh

(3) o ¥d aew (@) (), (c) 3nfn (d) TeH

Quality of employment in the economy can be assessed by which of the following factor/
factors ?

(a) Wages received by the workers.

(b) Share of workers in organised and unorganised sector.

(c) Distribution of work opportunities among primary, secondary and tertiary sector.
(d) Productivity of workers based on their level of skill and education.

Answer options :

(1) (a), (b) and (c) factors (2) (a), (c) and (d) factors

(3) All above factors (4) (b), (c) and (d) factors

B. 100% %% &R WA Foeh T farpdiaome 2015 W & FO0! WAGTH! HIvRI
AISF 3 ?
(1) Ubifore wmio fasme HriEH
Q) =90 feusin ofwR A=
(3) €M T ST UH S A
(4) WYFEHS ISIA AT

Which of the following is 100% centrally sponsored scheme for rural electrification, since
2015 ?

(1) Integrated Rural Development Programme
2) Ujjwal Discom Assurance Scheme

(3) Din Dayal Upadhyay Gram Jyoti Yojana
4) Pradhan Mantri Ujjwala Yojana
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9.

6 A

R 7T SAIR ¥iuren Sevid areiodst Hivn faur/ faum sdst /s ?
(@) 1991 FaTem HIEM AR HROTTE HS YA TR F0AH 1S AR,

(o) WRATAT ST AR HEeAT (WTO) STHeel difqeniies §d 34/ e Sei®
a4 firefte Fwaw Tt oA

T 39 ;
(1) (2 &K (2) (b) K
@) A (@) et T T

In the context of New Trade Policy of India which of the following staterhent/ s is/are
correct ?

(a) The period after 1991 has been marked by substantial liberalisation of trade policy.

(b) In line with India’s Commitment to WTO, quantitative restrictions on all import
itemns have been withdrawn.

Answer options :

(1) () only (2) (b)only
(3) Both (4) None of the above
10. YR GIAGTH! HIH TIHYEIa Teaa SToaleds Hiedl FHIOER Ao ?
(1) W, 9iv=E S, faer (2) B, FAleH, iy
(3) ey wew, W, o (4) T[S, TSTEAT, Heeg
Which of the following group of states in India has inland water transport ?
(1) Assam, West Bengal, Bihar (2) Kerala, Karnataka, Tamil Nadu
(3) Andhra Pradesh, Orissa, Gujarat (4) Gujarat, Rajasthan, Maharashtra
11, ‘TSR TEHR A GEhRIA deid A @S S,
(1) FEHER 7d (2) WY SHfE qPiER &
() TR a @) =ewd
‘Co-operation among Co-operatives’ this principle of co-operation is known as .
(1) Principle of Thrift (2) Principle of Members’ Economic Participation
(3) .Principle of Growth (4) All of the above
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12. E@e fayr fearE =
(a) UL TEIEM AEHScorE! TG 1955 AL W,
(b) W HEHSHE Y& 3o SHIAI T3 A9 7 .
(c) Toee =M S Friwarh FEam 7 1979 74 A
FltE! FvR/ N fGum/ SiET 3R/ ?
1) (a) ¥ (b) @ @®Fc @ M3 @ @9@
Consider the following statements.
(a) National Small Industries Corporation was setup in 1955.
(b) The main objective was to provide machinery to small scale units.

(c) The programme of District Industries centre was introduced in May 1979,

Which of the statement/s given above is/are correct ?

(1) (a) and (b) (2) (@, (®)and(c) (3) (b)and () (4) (a) and (¢

13, FRRIYN S enfor sufwar SUm S e (cluster) HIEl 7RI Sl fawe mgHea
(MIDC) fasirma sfid a11ed ?

(1) &% sufw 3o () Hag anfo T

(3) gL T TR -(4) U Tf STEHSTR

Textile and Food processing industry cluster is concentrated in which of the following
MIDC clusters of Maharashira ?

(1) Mumbai and Thane (2) Mumbai and Nashik

(3) Solapur and Nagpur (4) Pune and Ahmednagar
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14, SIFTfds o 9@ Hivd ?
(a) TE-TATHIG a&] 3 Qi1 ¥a16 Jad @ R ANEIS §EH HH .
(b) UL-TAME Hieqorl Yad Y™ aF fHavare! arg amme fHafm 3,
(c) TIAFE H VAR WA <3 ard aramere faio o,

(d) <o fafay Seid PRI Ha0 99R Svaraet ara ek i @

i 34T
(1) %= (a) (2) I (a) SO (b)
(3) (), (), () 0 (d) (4) FH (@), (b), (o)

Which are the parameters of globalization ?

(@) Reduction of trade barriers to permit free flow of goods and services among
nation - states.

(b) Creation of environment in which free flow of capital can take place among
nation - states.

(c) Creation of environment permitting free flow of technology.

(d) Creation of environment in which free movement of Iabour can take place in different
countries of the world.

Answer options :
(1) Only (a) (2) Only (a) and (b)

3 (@), (b), () and (d) (4)  Only (a), (b), (c)
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15. ST o
RIS Fraeh=arat giuTH
(a) ST Sy HoHIE () VaFE=I W@y
(b) e diwm v () sl fdeia |
(c) = e geHIge (i) frefe e
(d) ¥ siem g (iv) SHTINER 3fe R
et S
(@ () (9 ()
M 0 6@ @) @
@ @ @ 0
@) @) @ ()
@ & 0 6 )
Match the following :
Subsidies Effects on farmers
(a) Amber box subsidies (i) Direct payments to the farmers
(b) Red box subsidies (i) Banned outright
{c) Blue box subsidies (iii) Not banned
(d) Green box subsidies (iv) Minimal impact on trade
Answer options :
(@ () (9 (d
1 O @ @ (@iv)
@) @ @ @ @)
(3 @ @ @ G
4 ) O @) (i)
16. WESEH SFEE 2017 ALl UG IUT TGS B ?
(a) ¥ aafn et (b) o7 St
() W o d Y= aMEE
Qe 36
(1) W (a) 2110 (b) (2) W (c) 30 (d)
(3) R (a) 0 (c) (4) e (b) i (d)
In 2017 which were the industries reserved for Public Sector ?
(a) Arms and Ammunition (b) Atomic Energy -
(c) Mineral Qils (d) Railway Operations
Answer options :
(1)  Only (a) and (b) (2) Only (c) and (d)
(3) Only (s) and (¢ (4) Only (b) and (d)
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17. ¥29a T Fo ‘wEE AfysRr’ gawed fHedd SRl YRarde USTIR %A / IS S0 2
(1) U o ISR IS (NREP)
(2) 9. et v wrer SR Bt A S (MGNREGA)
() TENEMIE USR5 A1 (EGS)
(4) AR TSR A (JRY)
Which employment scheme/programme in India gave recognition to the ‘Right to work’
enshrined in the constitution, first ?
(I} National Rural Employment Programme (NREF)
(2} Mahatma Gandhi National Rural Employment Guarantee Act (MGNREGA)

(3} Employment Guarantee Scheme of Maharashtra (EG5}
(4) Jawahar Rozgar Yojana (JRY)

18, ‘9 %A AR ?
() Semeifaee HeRre SReEREt Aafi d EE TEE A,
(2) SEmYEifETEd TR WEHETET FR.
(3) HEUS WEHRE! FEN, AR, THE [Aa0EhE S <0 e,
(4) EMEE! WIEF WA
What is MAITRI ?-
(1) Govt. of Maharashtra’s Innovation Technology Restructuring scheme regarding
industries.
(2) Govt. of Maharashtra’s contract regarding industries. ‘
(3) Govt. of Maharashtra’s Industry, Trade and Investment Faciliation Cell.
(4) Computer Software for industries.

19. TISGUH! VAT AT FSETRIAST STAVES] 6T HEh sxd 4T Aol i@l 318 ?
(a) TEER & &g fohma.
(b) SR AT = HESTE Tl Iqofl.
(c) TH=A, 19, T FiErE yEng gfaw.

(d) ol WHEE FERYS.

e ST -

(1) (a) 0 (b) (2)  (b) 37 (c)
(3) aldSUS! RIvEE & 4) o wd

In which of the areas markets fail and Govt. intervention becomes important ?
(a) Monopoly and goods prices.

(b} Provision of public goods for economically backward.

(¢) Infrastructural facilities like irrigation, roads and railways etc.

(d} Imperfect market competition.

Answer options :

(1) (a) and (b) (2) (b)and (0

(3) None of the above (4)  All of the above

Heell HIUMES SR /SPACE FOR ROUGH WORK
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20. HEWIE ST Swouie Tode Hewm i, @Wﬁﬁﬁﬂ?ﬁuﬁrﬁﬁhﬁﬂﬁ’
(1) Tlieuiem o g1 o goR '
) offeors =i SR T
(3) el S QLT gy
(4) =eT® Wl
An important objective of (MEDA) Maharashtra Energy Development Agency is reflected
in which of the following ?
(1) Propagation and promotion of renewable energy
(2) Installation of thermal power centers
(3) Improvement in urban power supply
(4) All of the above
21, WM AR Sftd=an shriqia Jr fafay Foning o] hiven s FHifae g ?
(a) MR 9 TR fowge a=t (b)) =R 9 Sifgw GusiasEaE &6
(c) TR T WIH (d) =AHR = HEyr e
aryg faym et
1) (@), O () (2 () O3 @) () E ) @) T
Which of the following clauses are a part of WTO agreement ?
(a) Trade and environmental issues. (b} Trade and intellectual property rights.
(c) Trade and tariffs. (d) Trade and infrastructural facilities.
Choose correct options :
(1) (@ band(© () (@), (B)and(d) () ) ()and(d) (4) Allabove
22. GEAEHW @O aEt gidd Fd ¢

(a) WSTT AAFGT WESHIF BAHS HIGH! THh SERIAOL
(b) UEHE® GGG WEFT &FAHS HIGH! gahlt Feial,
(c) wEwfw emen sifue Tordmar e,

YR HIR faHH T TR/ 391 ?
(1) (a) ¥ (2) (b) ¥
@) (b) =0 () we @) (@) 3o () v

Privatisation implies following things :

(a) Transfer of control of ownership from the private sector to the public sector.
(b) Transfer of control of ownership from public sector to private sector.

(c) Providing more autonomy to the public sector.

Which of the above siatement/s is/are correct ?

(1) Only (a) (2) Only (b)

() (®) and (q) only (4) (a)and (c) only
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23. OHIATAI FH QU S TAqEs] S Wieded afor fre Svarmet ufie 2015 vl @dietiet
HI! AT Het T ?

(1) UHUF.IME. (2) " (@) wWuEHEL (4) fa=at

Which of the following was launched in April 2015 to fund and promote micro-finance
institutions, which would in turn provide loans to small industrial sector ?

(1) MFI (2) MUDRA 3) NMPC (4) SIDBI

24. 2011 <A1 SFAVHAER, 10 (S81) HiE Sheel RSS! T HIvM! ?
(1) T vaw, Te e S0y e
(2) WENIR, HAleF N Fie
(3) W YW, faeR anfor meRTY
@) faer, afrerg suftn 3 wew

According to census 2011, which of the states crossed the limit of population of 10 (Ten)
crores ?

(1) Uttar Pradesh, Madhya Pradesh and Rajasthan

(2) Maharashtra, Karnataka and Kerala

(3) Uttar Pradesh, Bihar and Maharashtra

(4) Bihar, Tamil Nadu and Uttar Pradesh

25. WIS Il HYN AT TEURIT HYAT AR ?
(1) wREA Joq (2) wRA H 3) TESWIH 4) fFrfem
Which of the following companies is not an Indian Multinational Company ?
(1) Asian paints (2) Bharat Forge  (3) Essel Propack (4) Philips

26, WY SLEER SFeid Gore qar faara =,
(a) YR SR 1999 T4 o TEAR €U0 T Ho.
(b) wRa Har Frm suftr g g frm =it U Ra ST 9T 2006 T T e,
(c) vIRG S=R fre T sffaeien 2001 78 e

FhHn! FIvd /< faum/3 A\ /d?
(1) @mp  (2) (b)) (3) T (q) (4) " (a)

Consider the following statements regarding Indian Telecommunication Sector.
(a) Government of India started new Telecom Policy in 1999.

(b) BSNL and MTNL have launched ‘“The India Plan’ from March 2006,

(c) BSNL was set up in Oct, 2001.

Which of the statement/s given above is/are incorrect ?

) @and®) () ®and(  (3) Only(d (4) Only (a)

ol /AT AT /SPACE FOR ROUGH WORK
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27. NG anfdE GURUTSR ST wes faum faanm .
 (a) el ¥ R e fom qHiR,
(b) EEIE 3 WRARS GUROTE AT 3R,
(c) Vmfaenttul & WRaTde QURY ifow g <ifad.

ot R/ @ faur/ v om/a?
1) @3(@®) (2 ®F()
@) @9 4) w0

Consider the following statements with reference to economic reforms in India.
(@) Libralisation shows the direction of reform in India.

(b) Privatisation shows the path of reforms in India.

(¢) Globalisation shows the ultimate goal of the reforms in India.

Which of the statement/s given above is/are correct ?

(1) (2)and (b) (2 () and

(3} (a) and (c) (4) All of the above

28, umﬁmmﬁ%mﬁmwmﬁm%?
(1) T 9rTE T FiTEE) SeaEra fdt Suee wed .
(2) THIY T U HeMnT ShEd,

(3) ﬁmm@wmmm@,mmamﬁma@w
PFGEAT ARSI A0 qIE Figa,

(4) U TEHRS TWEAR T e I IR T, r&ﬂw@walwma@m
anfeard SFEE STaee TTHI 9T Jao,

Which of the followmg is the most important objective of Pradhan Mantri Gram Sadak
Yojana ?

(1) To provide central funds to construct roads in rural areas.
(2) To connect rural roads to national highways.

(3) To provide all weather road connectivity to unconnected rural areas with a
population of 500 and above. -

(4) To provide all weather road connectivity to unconnected rural areas with a tribal
population of 100 and above.

FeA! HIREE T /SPACE FOR ROUGH WORK P.T.O
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29, ST TS T R,/ TG T/ SR ?
(a) SImIfaa i Tewrd areq.
(b) IFTfae anfeier w84 frmiror o),
(c) SInTfeak wrang gfawi=n fawm S
(d) SIFTfae SAURE TRETEE <O,
g faum faer
(1) (@) @A) (2) () H) @) @) )T (@) (o) (d) @)
Which is/are an important function/s of International Monetary Fund (IMF) ?
(a) To increase global monetary cooperation
(b) To create global financial stability
() To develop infrastructural facilities

(d) To facilitate global trade
Choose correct option :

(1) (@), b)and () (2) (a), (b)and(d) (3) (b} ()and(d) (4) () (d)and (a)

30. GolcuE! S glaur fave snfids darmEt o €a W ?
(a) Hemdie ST a5 3 VAU HaT.
(b) zmdie A Sfeh = ad Fraid IR 100% W gae.
(c) ¥ Fiie FAHErIS! TSI a=a1 STAER Wjeh aae,
(d) nfEtE, AU 9 aEqHERE 100% Hawd.

g 39 ;
(1) = (b) 30 (c) (2) I (c)
(3) = (d) (4) e (a) I (b)

Which of the following facilities is not applicable for SEZ ?

(a) Exemption from goods and service tax to industrial units. |
(b) 100% exemption for industrial units on export income for first five years.
(¢} Duty free import of goods for development of industrial unit.

(d} 100% exemption for advertising, marketing and transportation of goods.
Answer options :

(1) Only (b) and (c) - (& Only(q

(3) Only (d) (4) Only (a) and (b)

sl FHIETETS T /SPACE FOR ROUGH WORK
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31, HER WA S G S0 HIve 961 SRR &S ?

1) 1999 () 2002 (3) 2001 4) 2003
Which year did the Maharashtra government announce the Bio-technology Policy ?
1) 1999 (2) 2002 (3) 2001 (4) 2003

32, fHEHTURIS Jeredl aedid @eisden! Hivre faum aer =gt ?
(1) TeHS JE TRUN YR Hegol G ot SaHM Hege amdie W o
(2) wufas T = fadia g2 oo Seeas.
@) foda = gl waEr @ onftn srjereEia Qo Sl Teye amdie w .
(4) wiufaw T2 & TR THY WA G R IR
Which of the following statements regarding deficit in budget is not true ?

(1) Revenue deficit is a difference between revenue expenditure and current revenue of
the government, :

(2) Primary deficit is fiscal deficit minus interest payment.

(3) Fiscal deficit is a difference between total government expenditure and total
government revenue including grants.

(4) Primary deficit reflects total resource gap for the government.

33, WO faum faarm =0
(a) WRAWE WOHT F HIH 1953 HEA R T,
(b) HudER At FT WYH B 1957 LA HRS T,
(c) U I & HEH HIS| Bl e,
(d) <UFT T YYH 1958 AL AHRA T
wrotet w/@ o stae am/a?
(1) (2 9(d) 2 B9 ()} 3y HH () (4) T (d)
Consider the following statements :
(a) Estate Duty was first introduced in India in 1953.
(b) An Annual tax on wealth was first introduced in May 1957.
(c) Wealth tax has been a major source of revenue.
(d) A Gift tax was first introduced in 1958.

Which of the statement/s given above is/are incorrect ?
(1) (a) and (d) (2) () and (¢} (3) Only (c) (4) Only (d)

/
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34.

16 : A

WA= Rl 2011 9t FNA HE@M 9El heedl ST e WsHYY STeewHTol
S TR

(a) <Afddan e @9 vl aeTardt ¥ 32 Yen FHi ayifor wmdto yETS T 26 Uan @A oTEn
v e AR,

(b) wfFT e @ wed WY 2 20 Ve FR anfor AT TG € 12 e F oT
AT HAN 3R,

TBUS! SRR/ fauE/Y S AR/a?
(1) (a) ¥ (b) (2) W (a) (3) W (b) (4) wd= R

The Planning Commission submission about the Poverty Measures to the Supreme Court,
2011 is as below :

(a) Anyone with daily expense below ¥ 32 in urban areas, below ¥ 26 in rural areas.
(b) Anyone with daily expense below ¥ 20 in urban areas, below ¥ 12 in rural areas.
Which of the statement/s given above is/are correct ?

(1) (a) and (b) (2) Only (@) (3) Only (b) (4) None of these

35.

e a7 faymran faar +u -

e (1) mfedt onfor dATeE FauRaygs Yo &7 ¢ Faifus 37 IR 8 3R
o (1) - WIS W1 AsPTAS ey &rren feean gy 9131 318,

(1) Taum (11) =R ane anfn faum (1) 5.

(2) faum (1) st anfn favm (1) 9.

(@) == faum g,

@) A faum s

Consider the following two statements :

Statement (I} : Business services including IT sector has been the fastest growing sector.
Statement (11} : Share of service sector in Indian total employment is very high.

Select the correct option.

(1) Statement (I} is correct and (I) is incorrect.

(2) Statement (I} is correct and (11} is incorrect.

(3) Both Statements are incorrect.

(4) Both Statements are correct.

THeAl HFEE S /SPACE FOR ROUGH WORK
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36. FHeq A Nt YoM Fagiar=an Hevld @ote faumEn faum =4

faam () ;- anf¥a T e TThiToa HiTe € weHiawas dromien s1fys aRumaRs
a|d,

faam () : USRI Tl TaavarETal & Sl 0 Tuferd o,
Tt arg T e,

(1) faum () @t 7% & faum (1) @t 7@

(2) faum (an =R =R 9 faum (1) ot T,

0) PR E

(4) < faum @l iR

Consider the following statements in the context of Keynesian theory of income and
employment :

Statement (I) : In case of recession, fiscal policy proves to be more effective than monetary
policy.

Statement (II) : To raise level of employment, it is desirable to reduce taxes.’
‘Select the correct option from below.

(1) Statement (I) is correct and Statement (II) is not correct.

(2) Statement (II) is correct and Statement (I} is not correct.

(3) Both Statements are not correct.

(4) Both Statements are correct.

37. WA 1 3, 2017 YA T FE1 F B0 FeAMeS g 9 Tod TR Fohdl HT HH! o ?
(1) ¥, - 6 o7 T4 - 11 & (2) &g -7 WM TH - 9 W
(3) F= - 8 I’ T ~ 9 & 4) &% -9 nfn T - 8 W

How much taxes of central and states government have been reduced due to the
implementation of the goods and service tax in India since 1 July, 2017 ?

{1) Central - 6 and States - 11 Taxes (2) Central - 7 and States - 9 Taxes
(3) Central - 8 and States - 9 Taxes (4) Central - 9 and States - 8 Taxes
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38, SIS Y&l
=T afyre
(a) Wowdl H () 1985 WY T HeA
(b} EUH H (i) RS TE FA
(c) ATIITER F (egafva #1) (i) US.&. A Al
(d) W H _ (iv) 1994-95 7% g& Fe
et 9T ;
@ () (© @
@ @) () @) @)
(2) @ @ (@) )
(3) @) () () (i)
) (v) @ (@) (i)
Maich the following :
Tax Characteristic
(a) Estate Duty (i) Abolished from 1985
- (b) Wealth Tax (i) Introduced by Kaldor
() Ad valorem Tax (if) L.K. Jha Committee
(d) Service Tax (iv) Introduced in 1994-95

Answer options :

@ (b)) (g (d)
(1) @) (@) @Gv) ()
@ O G @) G
@) @) vy @ (@)
() () ) (@) (i)

39, WK YWl Hoithe Fretel T oamm g Sk o ?
1) SR bR qrfa
(2) YT 9 I g WA W 9
@) =3 (1) T (2) A TE
(4) o (1) =1 (2) _
What are the objectives of establishing government public debt fund ?
(1) Save the economy from crisis
(2) Principle and interest installments should be paid in time
(3) Neither (1) or (2)
(4) Above (1) and (2)

oAl THIWMEEGE S / SPACE FOR ROUGH WORK
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40. G e dv= +d fa=md = .

Vil

(a) fafa e (b) VEEi= WS

(c) =& snfoy Q== wEwW (d) ~ wiaa FSH Fhe

et w9 1 ErRyH /a?

(1) (a) 3 (b) 2 ©3E (3) W (d) (4) R (c)

Consider the following functions of money :

(a) Medium of Exchange (b) Measure of Value
(c) Store of Goods and Services (d) Standard of Deferred Payment
Which of the function/s given above is/are incorrect ?
(1) (a)and (b) (2} (c)and (d) (3)  Only (d) (4) Only (q)
41, TGOS S Joodl
: ar L

(Ffa faemdis ) ( Wi 8)
(a) werH T Ffu fammdta () worwE faF
(b) OSTERTE I H fFEHs (i) =B anft defaEr
(c) 0 FH farmite (i) 9 fu SEd
Toiet 34y

(@ (b} (o)
(1) () @ @
) O @ ()
(@) G) @) @
) @ @ @
Match the following :

A , B

(Agriculture University) (Research Areas)
(a) Mahatma Phule Krishi Vidyapeeth (i) Horticulture Crops
(b) Punjabrao Deshmukh Krishi Vidyapeeth (i) Pulses and Oilseeds -
(c) Kokan Krishi Vidyapeeth ' (iii) Sugarcane and Jawar

Answer options :

@ (b) (o
(D @) @ @
2 O @ ()
@) @ (@ 6
4 @ 6 @

oAl HAME 9T /SPACE FOR ROUGH WORK
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42. T 2016 <0 SOAM, HERIISA RV W YehR) G de waifhd o ?
(1) 3R favm (2) TR favm
(3) O faum (4) @i faum
As of March 2016, which of the following regions of Maharashtra has the highest number
of co-operative societies ?

(1) Aurangabad Region (2) Nagpur Region
(3) Pune Region (4) Konkan Region

43, e WEPE AFUATE FHEY BUAHS! fhdl helerl savamHal 3| ?
(1) SRR 2300 His wad (2) STRNEA 2500 Hedsian SR

(3) STRRMYA 2400 FSASU ®H  (4) STERMYA 2600 Hes wad

How many calories is needed to'be included in poverty line ?

(1) Only 2300 calories from diet (2) More than 2500 calories from diet
(3) Less than 2400 calories from diet (4) Only 2600 calories from diet

44, VI@ G W TR gien steagaEret fijaaus st wnen w Fe gt ?
(1) 1990 (2) 1991 (3) 1992 (4) 1993
When did Disinvestment Commission was established under the Chairmanship of
C. Rangarajan by government of India ?
1) 1990 @ 1991 (3) 1992 4) 1993

45. wEE faum g faasrarren d@evidie aed -
(a) T ST IR TSR Head WHIEt AT I SUAEISH Fa@ Sl
(b) T P A1 A T AeAAd FheS TR A G B
(c) <YT=A AUFHT A1 WERIS ge W6 FEWEN T WY 3R,
(d) T AR AN Tt QU FUAEIET el Sl qul e A S qRavareie § ane

Y&t e
TS HoE! fqum il ada ?
(1) =t wd (2) HSH! FIE et
() (a) 3nftr (d) 4)  (b) anfur ()

Following statements related to deficit financing :

(a) It is best used during inflation to stimulate effective demand.

(b) It implies the transfer of money from public or banks to Central Bank of a country.
() It is a measure of fiscal policy to meet deficit on the current account of country’s

budget. .

d h isgused to fight depression but it cannot be used effectively to finance economic
development.

Which of the above statements are true ?

(1) All of the above (2) None of the above

() (2)and (d) (4) (b)and ()

HoAT RIS AT /SPACE FOR ROUGH WORK
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46.

21 Vi1
e Gurur=n Hevia SoTH! Hec Tl day ‘M sieifie 9Re-1991" ¥ e
AU =t ? |
(a) WESHF 43 TEE FH e IS,
(b) TRARIAM, TR € F@ T,
(€ THIISH, N WA fod A,
(d) Resdr=t vamT Sq=EmEE wa Tl
vt 3wy :
(1) (a) 3 (o) 2 O @) (a) WD) (4)  (c) 3o (a)

In the context of economic reforms in industrial sector of India, which of the following
can not be attributed to "New Industrial Policy-1991" ?

(a) Role of public sector diluted.

(b) MRTP Act was abolished.

(c} SEZ’'s were encouraged.

(d) SIDBI was set up for small scale industries.

Answer options :

(1) (a)and (c) (2) (b)and (d) (3) (a)ard (b) (4) () and (d)

47.

figrd Srem wafres S devia aeietat SR faum @Y s ?

(1) T E BN 3@ < e e S S Sl Fe 2.

2 feed T e e w5 sEe fgd S A SwiE 9 Q.

(3) R T IFsygoval TN WY AT,

(4) fid W e ¥ Uregom e siauar (inject) TTHA 3.

Which of the following statement is true in case of credit control measures of the RBI ?
(1) Repo rate is the rate at which the RBI lends to the commercial banks.

(2) Reverse Repo rate is the rate at which RBI lends to the commercial banks.

(3) Repo rate is the measure of absorbing liquidity.

(4) Reverse Repo rate is the measure of injecting liquidity.

AT HAHIE AT /SPACE FOR ROUGH WORK
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48, WS IR ' AEEE I SN T awq’ SR faveR o arefensal wm o ?

(1) = TR (2) fso fmm

3) foiw e feam (@) W.AEE

Name the economist who mentioned division of public goods in “Public Goods and Merit
Goods” ?

(1) John Dalton _ (2) Findly Shiras

(3) Misses Ursula Hicks {(4) Prof. MasGrav

99. fed 93 SR FSn Foe ‘I EAT 9o’ (High Power Money) WI@i@ta! vl
FHRUS UM 7
(1) 3 S fafere e AR 3y,
(2) I TeAreN qedre gl 9EhR .
(3) % 9o TR Nt figd da A S oM,
(4) =Y wd

Currency issued by the RBI is called as ‘High Power Money’ because of which of the
following reasons ?

(1) Itis backed by supporting reserves.

(2) It's value is guaranteed by the government.
(3) Itis the liability of RBI and the government.
(4) Al of the above

50. A TR 2 ke W - TR St S T e
T ?
(1) e govm gfawi=h o () fEa frjed FeEn
(3) gaEraia geEEmH (4) TRE FFEH TEHH

Which of the following is not included in the three-dimensional perspective adopted by
the Indian Government for the eradication of poverty ?

(1) Provision of minimum basic facilities (2) Poverty eradication program

(3) Growth Oriented Approach (4) Approaches of poor subsidies

Hool WS SN /SPACE FOR ROUGH WORK
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51. WA JF faumidat g faur drra g ?

(a) Tl Swiichios STTRIdes HewaTa feeen & Joh1a Towa AR,

(b) TowERIe e ST Hewar SR § WiSaor HHa ¢ 37,

it 39 '

(1) ¥ () () ¥ (b)

(3) = (a) 7 (b) . @) (a) T (b) SEE T

Which one of the following statements is not correct ?

(a) A major part of unemployment in the developed countries is of cyclical nature.

(b) A major cause of unemployment in developing countries is deficiency of capital

stock.

Answer options :

(1)  Only (a) (2) Only (b)

(3) Both (a) and (b} (4) Neither (a) nor (b)
52. ULHE THAI GA&0 G migoen (i frdt StsmRien seyidio arole faumidst o faum

@l 3ea ?

(a) B HE S SR ¥ (by B =ftie A AT,

(c) & Ga =l L e, (d) € e Pics oL T,

gyl 3

M @A) @ @0 AQ @) (b)) T (@) (@) b))

Which of the following statements are true for the usual status unemployment concept

developed by NSSO ?

{a) It indicates chronic unemployment. (b} It is an yearly concept.

{c) Itis a person rate. (d) Itis a time rate.

Answer options : -

(1) (a)and (b) (2) (@ . (byand(© (3) () ()and(d) (4) (a) (b)and(d)
53, ‘ToarAl wHidie Fara e’ S aige ?

(1) & Swed ) go fem (3) T (4) SRl
Who stated ‘The Law of Increases in state activities” ?
{1y Dr. Dalton (2} Ursula Hicks  (3) Wagnor (4) Dimarko
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54. HENTEIA THY A1HEF KOS "l &l areAn, Sioeddl wivm fasm seides
FHEW (2016-17) FaTEF drEM 36 o8 ?
(1
(2) e ¥
(3) TR o, o W s s
(4) uufTR ETm At W

As far as the contribution of service sector to Maharashtra’s Gross Domestic Product (GDP)
is concerned, which of the following sector is contributing highest {in 2016-17) ?

(1) Railways

(2) Financial services
(3) Real estates, ownership of dwellings and professional services
(4) Public Administration and Defence

55, @O fayr fa=me =i
(a) el vaeht e i wigeren aiiry gt anftn dao qurd sniftn @i e fawm &
R,
(b) T wieet HH BBt YqqTas) wid.
() TAETGIT Ad IR 0 YRR =ATYRare: afgein giewm snfo s fao 9.
FGUF] FIE Faur SeR TR ?

(1) (@3 (b) 2 (&) 3F()
@) @ 3() 4) o ad
Consider the following statements :

(@) The Kishori Shakti Yojana aims at improving the nutritional and health status of
women and their self development.

(b) The Rashtriya Mahila Kosh provides large credits.

(c) Swavalamban Scheme provides training and skills to women in traditional and
non-traditional trades.

Which of the statements given above are correct ?
(1) (a) and (b) - (2) (b)and (q)
(3) (a)and (c) (4) All of the above

el HTHIETSt WA /SPACE FOR ROUGH WORK
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56. Sfohse AFHFSANTER (2016-17) GY SHE GOIGUH! HIUET FHRTAT fUhr= enEsias
wata sy siriifes & Terme™ o ? )
(1) 2wyt (2) T (3) defemn (4) w2

As per the recent statistics, which of the following had the highest geographical area
under cultivation during Kharip Season (2016-17) in Maharashtra ?

(1} Cereals (2) Pulses (3) Oilseeds (4) Fruits

57. WO faum foand =
(a) 2014 I Fe < I 3 ARSI SAEET ARfAE e
(b) & gaH 0T SEREm EE! THal 9% SR SRR L.
(c}) 2014 wiﬁﬁxggﬁmﬁwﬂgﬁm@aq&wﬂﬁﬁ

FUH! Fvrd faur/3 @ TR ?
(1) (a) 3 (b) 2 ® (@)
(3} (a) 3 (c) (4) e wd

Consider the following statements :
(a) Since 2014 only two industrial sectors are reserved for public sector.

(b) Presently no item is reserved for exclusive manufacturing by Micro and Small
Enterprises Sector. '

(c) Since 2014 private investment in rail infrastructure has been permitted.

Which of the statement/s given above is/are correct ?

(1) (a) and (b) @ () and (©)

(3) (a) and (c) (4) All of the above
58. 3isH fimy Tl T smEpRoi e AiSe,

(1) SAEHdd (2) wafaw

(3) fafauds (4) €U

Adam Smith has stated principle of taxation.

(1) Canon of Productivity (2) Canon of Elasticity

(3) Canon of Diversity (4) Canon of Equality

el HIMEE AR /SPACE FOR ROUGH WORK PT.O
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59, IiSich IR 9, WISGUHT HIvRdl HehEll S 1 MR ?

(1) Tfea AdEhed C(2) o fadegeen
(3) U=l & (Canons) (4) RN GESE '
Adolph Wagner’s name is associated with which of the following factor ?
(1) Balanced Budget (2) Deficit Financing
(3) Canons of Taxation (4) Increasing Public Expenditure
60. SIS o5 ¢
ritear afiwmor fyreea
(a) TR, () B, JE, g SEEE
(b) TELHLAE. (i) Tagror snfor sreredie @rsril weE qEEaY
(€) G dgow I (i) TN e Seu
(d) WU 9 T (iv) 10 Rl ATHR
ot I ;
@ (b) (9 (d)
1) (v @ @ (i)
@ O @ @) (i)
@) @ @) @ (i)

(4) (i) @) @Gv) @)
Match the following :

Poverty Measure Feature
(a) MPI (i) Longevity, Knowledge, decent standard of living
(b) HPI (ii) Inclusion of private expenditure on education
- and health

(c) By Suresh Tendulkar (iii) Universal Basic Income
(d) By Pranab Bardhan (iv) Use of 10 indicators
Answer options :
@@ (b} () (d)
1) Gv) @) () (i)
@ @ @ @) (i)
@) G v @ ()
(4) @) @ () ()
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61. WA TS S HeA AN 2007 WS TR FOAR AP, THSIH SR I @
T B ?

(1) wfge WaRd= g=R T,
) wfeer SEfsEder TeR Fo.
(3) Tieen JomTRIET TR F0,

(4) @mmaﬁmmﬁwﬁmwm

Savitribai Phule Kanya Kalyan Yojana was revised in 2007. Which of the following was
its main objective ?

(1) To promote female literacy.

(2) To promote women entrepreneurship.

(3) To promote women employment.

(4) To promote couples to accept sterilisation only on one or two daughters.

62, 1977-78 W%} WRAW ' 3eCE HEHA’ HI [T GE H 8 ?

(1) wenrg (2) TEE (3) g (4) TR

Which state has started ‘Antyodaya Programme’ in India in 1977-78 ?

(1) Maharashtra (2) Gujarat (3) Tamil Nadu (4) Rajasthan
63. @ o wUS i

(1) Yt Apit 3 S [W@on anie S8y

(2) SR f$7d 3 Yvre dem e gey

(3) HemEn QEer sufo Tem e wiet anie Uik

@) g eea 3 Yt W& Awie Ui

Money Multiplier means

(1) Relation between demand of money and supply of money
(2) Relation between market price and quantity of money

(3) Ratio between supply of money and stock of base money
(4) Ratio between capacity of economy and quantity of money

64. WWWWWWWW?

(1) WHK G a8 (2) WER wlid 916

(3) U A a8 (4) T@Ed=n TEE < 9e

Which of the following fiscal measures will be effective for controlling the inflationary
condition ?

(1) Increase in government expenditure  (2) Increase in public debt

(3) Increase in the tax rate (4) Increase in cash reserve ratio

HoAT HIAEG 0T /SPACE FOR ROUGH WORK PT.O
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65. TS faumila) SR whET e ?
(a) T BN FAB IAA WA .
(b) T ¢ U 0 M.

vaidt 39T
(1) (a) SR R, (2) (b) SR R,
(3) (a) & (b) SU 3T, (4) a0t FronE Sl T

Which of the following statements are correct ?

(a) Tax means only for source of income.,

(b) Tax is mandatory payment.

Answer options :

(1) (a) is correct. (2) (b) is correct.

(3) (a) and (b) are correct. (4) None of the above are correct.

66. WRar=w s fawrae Iwiwia wisae A acr faelt visdert W GEietsl Rk
3w WA FEGE @9 A 2

(1) w=drar [E&@et (2) e fafma
(3) W@ T (@) Frfaas

The Domestic Capital is inadequate for the economic development of India, the need for
foreign capital does not have to achieve any of the following goals :

(1) Supplies of Savings (2) Foreign Exchange
(3) Government Revenue (4) Disinvestment

67. ! BN Wigas fAfidad) S sl fdl yem S oe ?

(a) T (b) FE SR faa

Tt 39N :

(1) % (a) (2) % (b)

(3) (a) 3nftr (b) EA (@) (a) 3nfn (b) A

By which ways agricultural sector provides funds for capital formation ?
(a) Agriculture Taxation (b) Export of Agricultural Products
Answer options :

(1) Only (a) (2) Only (b)

(3) Both (a) and (b) (4) Neither (a) or (b)

HoAT HUES FET /SPACE FOR ROUGH WORK
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68. FU ST (EHAGAHIS! UL Jdhd SN WSS I aao
(a) e FawiE o AT (b) eI ST GERON

(c) IUATE e AT (d) vd guron

gt I .

(1)  (a) ¥ (d) 2 @ bW (B) b)QTE @ (@

For revival of agriculture National Commission on Farmers suggested following plans :

(a) Debt waiver for all farmers (b) Soil health enhancement - '

(c) Efficient use of water (d) Credit reforms

Answer options : . ' -

(1) (a) and (d) (2) (@ ()and () () () (Qand(d) (¢4) (@
69. eR@ wwidl A uER

(a) ¥ IHE wER faam C (b)) YawiE w5 SR

() Toam v fome (d) T893

1 @ EI@ 2 Gt @) G I @ @ (@

Green Revolution is the result of .

(a) High Yielding Variety seeds ~ (b) Indebtness of farmer

(¢} Minimum support prices ~ (d) Irrigation

Answer options : o

(1) @.()and(d) (2) (b)and(c) (3) (b), (c)and (d) 4) (¢and (d)
70. mwmﬁw@mmmmmmm@mwm

ane?

(1) TR G V%] S WA

(2) oTfeieh faehe g Pwear U= I8 B4,

(3) FE A i srdsmaedmed wuia 2N,
(4 =o .

What are the changes in the analysis of the theory of population transmon in different
phases of economic development ?

(1) Birth rate and death rate are both very high.

(2) There is an increase in the income of the people due to economic de'velopment.
(3) The agricultural economy is converted into an industrial economy. -

(4) All of the above.

FHoH HIWHEE AN /SPACE FOR ROUGH WORK
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71.

30 A

1 2013-14 93 werreR fdw foma dmH @ed FvEs ad-vd §9a ®
T . -

(2) ¥ A e WS

(b) I ST AFHEA TR TR

(c) It A AR TS

(d) Ife ATGGT IHAE aG!

gt I ; _

(1) (a) ¥ (b) (2)  (b) () (3) (o) 30 (a) 4) (o) ®

In the year 2013-14 Maharashtra experienced rapid economic development but experienced
that agricnlture has

(a) Decline in the contribution of agricultural sector

(b) Stagnation of population depending on agriculture

(c) Increase in the contribution of agriculture sector

(d) Increase in population depending on agriculture

Answer options :

(1)" (a) and (b) (2) (b) and (c) (3) (0) and (d) (4) () only

72,

weito faur forema
(a) YINE & ST g1 i1 i HeT Ao Iciiedh 39 .

(b) ST WA IR YRAT A1TEH 10% $a% 3T,

(c) e AeTgEl onft waasrdandt Fell widt & & oofl dem sifam a1,

Fois! wR/@ fayum/Y sler emR/d? |
(1) (a) om0 (b) (2) (a) 3nf® (o)
(3) &= (o) . (4) el ¥

Consider the following statements :

(a) India is the second la'rgest fish producer country in the world.

(b) India is contributing 10% of global fish production.

(c) Blue Revolution is an umbrella scheme for growth of fisheries and aqua-culture in

the country.
Which of the statement/s given above is/are correct ?
() () and (b) (2) (2 and (©
(3) Only (¢ (4) All of the above
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73. Wafa fd=m @ wME®A (AIBP) & F G FA IR,
. (a) oMY TEEA wehey qUl O

(b) 71 BN ST gof

(c) IR SR fasa

(d) Foo sEge &

It Il
(1) ¥ () (2) WA (a) 31U (b)
(3) I (a), (c) 30 (d) (4) W () 7o (d)

Accelerated Irrigation Benefits Programme is launched for : .
(a) Completion of incompleted irrigation schemes

(b) Completion of new schemes in short period

(c) Irrigation for social benefits

(d) Irrigaton imbalance reduction

Answer options :

(1) Only (a) (2)  Only (a) and (b)

(3)  Only (a}, (c) and (d) (4) Only (c) and (d)
74, 2013 =N WAl (RN HEA@TIR S Sed Jeaal

a(avr) & ( HDI wHa )

(a) =M @ 10 '

(b) WG (i) 146

(c) e (iii) 136

(d) U= (iv) 101

i 3y ;

@ b (© @
M @ @ @
@ @) @) @ ()
@ @ @ W
@ @ @ O @

According to Human Development Index Report 2013, match the following pairs : |

A (Country} B (HDI rank)
(a) China (iy 10
(b) India (i) 146
(c) Pakistan (iii) 136
(d} Japan (iv) 101

Answer aptions :

(a () () (d)
1y @ @) () ()
(2} (v} (@) @) @)
(3) (@) @) @Gv} @)
(4 (i) @v) () (i)

wHeAl HATHGS FRT /SPACE FOR ROUGH WORK PTO

Pk ey T A e i 2



Vil 32 A

75. ‘MU= FNR & fFwme 36 am, Fr .
(a) IYEd U fasrar sggeEl
(b) fawoTeie WA ANR FE &
(c) wgULa AR YIS faha-Rie SHTr=ar Gevrd a1

uafdt 39y ;
(1) e (a) (2) i (b)
(3) W (a) MW (b) (4) o gd

“International Trade as an Engine of Growth”, because

(a) A strategy for sustainable national development

(b) Increasing of trade in developing countries

(c} Increase in the participation of developing countries in Multilateral trade system
Answer options :

(1) Only (a) © (2 Only ()

(3) Only (a) and (b) (4) All of the above

76. W@ ' Sfaw danE'! @Sl SR AT ?

(1) = (2) W& () Fw AUdS (4) U @HS

Which of the following is not a “Biotic Resource” in India ?

(1) Forestry (2) Fish (3) Coaland Oil  (4) Metallic Minerals
77. Iiar fagia =@ wfawes St $i, TR SwisH gord TEr SuE! IeeEdl god

] SeAEATT HH TS T A SARUET ARG el fiesg wemdl,

1) feret (2) 3isu fuy @) faem g (4) &=

theory demonstrates that countries can gain from trade even if one of them is
less productive than another in all goods that it produces.

(1) Ricardo (2) Adam Smith  (3) William Petty (4) Keynes

78, STTRST R ' Ry = wRR fag e Sivd AT qiee 2
(1) @ (2) T el
(3) ofen f@y (4) ST FH
Which of the following economists propounded “Absolute Cost Advantage Theory” of
international trade ? ' ‘
(1) Haberler (2) Heckscher Ohlin
(3) Adam Smith (4) JM. Keynes

FHeeAT HIAMEE 9T /SPACE FOR ROUGH WORK
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79. 1966 WGl T& Fowd ‘1w IS 2um SR (AWM)W SEEEE SHdd Sielete) ®om
faur @ eme ?
(1) = FFEn v A qaited S
(2) ¥ FEHT YA A o
(3) SIGRTF ST FiekARTS iG] 94T 8 A1 FHEHEHTE] WA gl
(4) olietw gd
Which of the following statements is true about High Yielding Variety (HYV) programme
of 1966 ? ) ,
(1) It was restricted only to food grains
(2) It was implemented all over India
(3)  Use of pesticides and msectlc:ldes was not the part of the programme

(4)

80, AT St SeumER, faa fimd’ s ww

1)
(2)
(3)
(4)

All of the above

3T fepmelt <1 Thwelil TRehR 40 GIER ¥ qUasl Fld.

As per the Agricultural Policy of India, what do you mean by “issue prices’ ?

1)
(2)
3
4)

Prices at which the government purchases food grains from farmers.
Prices at which government supplies food grains through ration shops.
Prices at which the traders buy food grains from the farmers.
Minimum prices guaranteed by the government to the farmers.

81. WIOIEUS] HIIE o6 YATH] THAGHEoH! GHE ARl 7

(1)
@)
)
(4)

Sifas qaferum=a e St 9.
mmm%mm@a@wwm
STRRIMHS aEal TEHde.

F4! Wide 9@ 9 3 N9y 9IS 2.

Which of the following thing is not the problem related to environmental sustamablhty ?

(1)
(2)
)
(4)

AT HIATAE A /SPACE FOR ROUGH WORK

Destruction of living habitats of native species.

Emiission of Green House gases into atmosphere that can cause climate change.
Increasing Disequilibrium in Balance of Payments.

Depletion of low cost oil and other fossil fuel.
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82. WP {aum foe=ma =i :
(a) 2014 4l TERAA Ta@1 €10 Wi [aguhi= wai 26% A 49% T amefad,
(b) WU 2015 e wRoK 9% fFEiv 0 deEueE i aauEEn 1@ 100% 6.
(c) 2014 H¥l RA Wehid T[aahi=a] Waed S 991 FHiE erdl.
it Hud faur/3 st 3w 2
1) @9@ 2) B3I
(3) @3 ) (4) For T
Consider the following stalements :
{a) In 2014, the Governmeni increased Foreign Investment upper limit from 26% to
49% in insurance sector.
(b)  April 2015, FDI inflow in India increased by 100% since the launch of ‘Make in
India” iniliative.
(c) India was ranking 9 in the world in 2014 in terms of FDI flow.
Which of the statement/s given above is/are correct ?
(1) (a) and () (2)  (b) and (c)
(3) (a)and (b) (4) Al of the above
83. Y@K HAR! FHu! YIS THR Hedrd Fot SATS TIOSUH! HIVdl FIA SR A& ?

(1) ¥l & AT SIS Jaavs aed.

(2) g 9 AT HAR AT YR TS,

(3) T PTG WEd WIS BN T@H FH B,

(4) - Ao FHERAS fordea: fRER SaRsUi @ IemTR o Ee,

The acceptance of the contract farming system in India, which of the following would not
be beneficial to the agriculture sector ?

(1)  Private sector investments in agricultural sector will increase.
(2) Increase the load on the Central and State-fevel contract mechanism.
(3) Migration from rural to urban areas will be reduced.

{(4) Inrural communities especially, landless agricultural labours employment generation
will be benefited.

FoA HAEE SR /SPACE FOR ROUGH WORK
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84. WHGIS FUG Tewr Gy wrieyid o Tl ?

(1) Frlaas (2) s/ G T
(3) = el 4) e FETm
Which of the following is not the guiding principle of cooperatives ?
(1) Disinvestment (2) Forming Voluntary Association
(3) Equitable Distribution (4) Democratic Control
85. FSISHIGA ___ i qafdaEae gl
(a) T AT e faw (b) R T S
(c) T WESHM Fahi (d) T wRETG faa
it Iy

(1) () 3w (c) @ @ ®)© 3) (@ ®), @ @ @ (@ @)
NABARD provides refinance to .

(a) Micro finance to small farmers (b) Regional Rural Banks

() State Cooperative Banks (d) Finance to rural artisans

Answer options :

(1) (b)and (9 (2} (a) ®) (© 3 @ (b)) ) @) ()and(d)

86. @re® faym foerm = .
(a) Ut Feited At aX HUAT AT gah o VAl SeqeATE foh! Are weE S
(b) e A wrerE R snf S e, e aeae TRomeRRE Y TR,
(c) Ot S AR T o751 dosde STVl VIRald VSt hedt WIl,

FU@YRT IR G/ THAC 318 ?
(1) (a) sl (b) (2)  (b) ¥ (c)
(3) (a) 3nfu () (4) wo® wd

Consider the following statements :

(a} Corporate farming includes corporate ownership of farms and selling of agricultural
product.

(b) These companies influence agricultural education, research and public policy.
(c) TItisused in sustainable agriculture and local food movement. '

Which of the statements given above are correct ?

(1) (a) and (b @ () and (0

(3} (a)and (c) (4} All of the above

FeAT RIS ST /SPACE FOR ROUGH WORK PT.O
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87. Ul TCHM ATGHUHIET HERTETT FHY RO W fga.
(a) SAUH Idaal HEHA (b) Hg&A Td=A
(©) TA=TE yon fea (d) g faageaer
'quhﬁ 37‘& H
(1) (a) 300 (b) (2)  (a) 3O () |
(3) (o) 3nfon d) @  (a), b, () 01 (d)

For increasing water productivity, Maharashtra Agriculture Policy stressed on

(a) Massive farm pond programme (b) - Micro irrigation

(c) Equitable water pricing (d) Micro finance
Answer options :

(1) (a)and () (2) (a) and ()

(3) (¢) and (d) : @) (@) (®), (q)and (d)

88. WRA 3EF 6 WonS W FVIEIS! Foien Wied T Siiinond WIS Hive
ey g ?
(2) To 9w Al
(b) uIfers wita widt It
(c) Trei® Il g
Wﬁﬁ:
(1) I (a) 30f0 (b) (2) () M0 ()
(3)  (a) (b) 30 (c) (4) wH (b) AW (o)

For reducing inorganic farming system in India, which of the following farming includes
in the classification of organic farming ?

(a) Pure Organic Farming

(b) Integrated Green Revolution Farming

(c) Subsistence Farming System

Answer opfions :

(1) Only (a) and (b) (2) Only (a) and (c)
3) (a) (b) and (c) (4)  Only (b) and (c)

HoHT HIAME WRT /SPACE FOR ROUGH WORK
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89. WA FE refemeae A ook amea
(a) TH A (b) SHE TAN
() WeqH-33-5F | (d) M. Y
q A Hioet 714 e famw W wh S Aot ama ?
1) (@) (o) (2 (b) T () 3 msfrd) @) (@)
Following are names of a few economists :
(a) AK. Sen (b} Jacob Viner
(c) Mahbub-ul-Haq (d) R. Nurkse

Which of these names are associated with the concept of “human development” ?

(1) (a) and (c) (2) (b) and () (3) (b) and (d) (4) (a) and (d)

90, WIHSIH! HIVEI N Hieh=l WA AR 2

(1) sEmREE () T (3) oS (4) wfEwm
Which of the following country is not a part of SAARC ?
(1) Afghanistan (2} Nepal - (3) Israel (4) Pakistan

91. WIS faun faarmE = :
(a) WA QurwHHt 99 wea Ao fedat 2000 T8 GF Sl
(b) 1995 A MRA WHRA ‘' T Grrfieh Hed FREHa ' TER %9,
() HEg Y WH Ao 2014 T o1 el areridi=n Safc & o,
TSt woR/d faum/Y o TR/a?
(1) (a) =nfur (b) (2) (b) =nf (o) (3} ¥ (o) (4) W (b)
Consider the following statements .-

(a) The Government launched the Pradhan Mantri Gram Sadak Yojana in Dec. 2000.

(v) The Government of India introduced “The National Social Assistance Programme”
in 1995.

(cj Saansad Adarsh Gram Yojana was launched in 2014 on the birthday of Atal Bihari
Vajpayee. ' ‘

Which of the statement/s given above is/are incorrect ?
(1) (a) and (b} (2) (b) and (¢ (3} only (c) (4) only (b)

HoAl HAWG ART /SPACE FOR ROUGH WORK PT.O
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92, WU HIURT LY * IRATRS Bfd shidren’’ = ?
(1) FN FIEA § FACHIAS T HAT L.
(2) T PERHET AL T HAIf,
(3) TR VRS USTTRI=AT gHEr i,
(4) SN EE Sava® A1 WATE! Jred! TR HIfel,
Which of the following is not the intention of the “Green Revolution in India” ?
(1) To reduce in the decrease of agricultural production and productivity.
(2) To meet the need of food gfains of growing population.
(3) To solve the problem of employment due to increasing population.
(4) To meet the growing need for raw material needed for industrialization.
93. M4 fawmE steare 1995 wed fan fawas 7 T8 frdens Smfde uesier RgHE o] SuEK
T, 3 Ao ? |
(a) S sramEm s (b) fon Geifua famwmg s
() e wewliwTer e (@) SfF qwEa s
slieAw! Fr e i s ? |
1) (a), () @) (@ © @) () © 4)  (c) (@)
Human Development Report 1995 launched two global gender indices. They are :
(a) Gender Inequality Index (b) Gender related development Index
(c) Gender Empowerment Measure (d) Gender Gap Index
Which of the above are correct options ? .
1 @, ®) 2 @@ @) (®) 4) (o) @
94, IMfHTT=a1 TTIHAS .  HEIe T B
(1) u= 2 & (3) Wm (4) dET
There were " founding nations at the time of establishment of ASEAN.
(1) Five (2) Ten (3) Seven - (4) Fifteen

HEAT HATES 9T /SPACE FOR ROUGH WORK
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95, fowmmiwdi &0l = I@ 3fEm =mL
(a) frofram Ixoude Tiew (b) FRIGT Tgeude Teg
(c) o sfem (d) TR SR Fee
i Iy
(1) (a) ST (b) (2) HH (d) (3) (9 ¥ (d) (4) K (c)

Reducing inequality is not objective of :

(@) Millennium Development Goals (b} Sustainable Development Goals

(c) Planning Goals (d) World Trade Organisation
Answer options :
(1) (a) and (b) {2) only (d) (3} (c) and (d}) (4) only (c)

96. HRd QORI ' UBF qaqedl 374 oN1fe] WS yias!’’ HaraEsdia | Uiy ofd [ S’
. Td ¥9od Il
(1) SHarl 2012 (2) fedaw 2012
(3) fedar 2013 (@) =SUH! UG AR
The “National Food Security Act” was enacted by Ministry of Consumers Affairs, Food
and Public Distnbution by end of __
(1) January 2012 (2) December 2012

(3) December 2013 (4) None of above

97. WAFE! ER HEaUl SEUTH Whaclied iy, WohH, FAEW & sowdianed
_ e 3 9ZfEn sy

(1) 3mhfed (2) e @ fedfma @ e

The macrominerals which are important in human nutrition are calcium, phosphorus,
magnesium and electrolytes __  sodium chloride and potassium.

(1} Todine (2) Iron (3) Vitamin A (4) Chloride

98. ‘'ura Ty faerg Harear ' (HRD) Mt weisdis faeneatem seamrard! ' gus SEmE
A"’ (Mid-day Meal Scheme) 1 31 991 Y& %,

(1) 1991-92 (2) 1992-93 (3) 1995-96 (4) 1998-99

The “Mid-day Meal Scheme” was launched by the ministry of “Human Resources
Development” (HRD) for the benefils of students in primary schools in year __
(1) 1991-92 (2) 1992-93 (3} 1995-96 4) 1998-99

oAl HEMAS AN /SPACE FOR ROUGH WORK
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99, ‘' STiheon® 37T TR T2 Wieaey UFgUR Sxodie Juiftdl’’ (a1ien) o1 4= wiw Fried
A% a1,
1) & fae 2) Had @) = 4) TS

Head office of the “Agricultural and Processed Food Products Export Development
Authority”(APEDA) is at

(1) New Delhi (2) Mumbai (3} Chennai (4) Bangalore

100.Wmmﬂw}mmﬁawﬁmawm_ 1 Hel T
3T Fea  Herm e yehea'! otd genfeoaa ae.
(1) 4000 4§ 10,000 T (2) 2000 & 10,000 T
(3) 3000 ¥ 8000 &FX 4) ISR FIUCE TE

According to recommendation of planning commission “Medium irrigation projects” are
those, where culturable command area is between __

(1) 4000 to 10,000 hectares (2) 2000 to 10,000 hectares
(3) 3000 to 8000 hectares (4) None of above

101. TS TaqEsT Ao 1y e fThReITaR . siaeen 1969 Hed * erolt o Ferdl

TTYAT 0T 3T T 3ATE HSeol easl - i
(1) . SR MeHe (2) o foeas
(3) @ «idfEE (4) o wEA guld

The “Lead Bank Scheme” was launched on the recommendations of the study group
appointed by “National Credit Council” in October 1969 under the Chairmanship of :

(1) Prof. D.R. Gadgil (2) Mr. Shivaraman

- {3) +~ Mr. Narasimha ‘ (4) Mr. AM. Khusro

102. . eeiie A ferEn e g @aten 259% e s 2.
(1) e et Fe (2) e e A
(3) 3T3al deaiifer Fra ) aiewd
The share of irrigation in the total expenditure was more than 25 percent during
period. -

(1) Sixth Five Year Plan (2) Seventh Five Year Plan
(3) Eight Five Year Plan (4) All of the above

oAl SIS A0 /SPACE FOR ROUGH WORK
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103, T - w1 yeefen fela adwEl 3 e seeerd w.
(1) e, VNI & = 981 |
() TUTE Y
(3) T 9 IwES e
@ oo
APEDA take the responsibility of export prOmotioh and development of
product. . ‘
(1)  Fruits, Vegetables and their products
(2) Dairy products
(3) Alcoholic and Non-alcoholic Beverages
(4) All the above
104. famia ow—arslas et wia 9 R
1 1 (2) 5 (3) 10 (4) 2.5
Marginal farmer has land holding upto ha.
M 1 . 2 5 (3) 10 @) 2.5
105. YRAMY YOG A=A f6am ey feade=n formrER=ar YN SRR e
1815 A
(1) wuEd. (2) wLEELEL (3) TLTFEISE. @) TCHEE.
In India, the minimum support prices for major agricultural commodities are announced
considering the recommendations of
(1) C.A.C.P. (2 NCDC. (3 N.AFED. 4) APMC.
106. WA THR FR ‘TG I w4’ (NHB) S oI v 3T
(1) 1982 (2) 1984 (3) 1986 (4) 1985

‘National Horticulture Board” (NHB) was setup by Government of India in the year

(1) 1982 (2) 1984 (3) 1986 (4) 1985

HodT WA T /SPACE FOR ROUGH WORK
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107. feife ey anfin fee & Fidiem i ghem W st S
(1) 1 SHarl, 1962 (2) 14 U, 1962
(3) 21 ufirw, 1962 (4) 19 FHERI, 1962
Deposit Insurance and Credit Guarantee Carporation of India came into existence on
(1) 1 January, 1962 (2) 14 March, 1962
(3) 21 April, 1962 (4) 19 January, 1962
108. Hivredt W wreftor yridie fasfa e s ferae wee o i 3 2
1) T : 2) ok 9% afw gfem
(3) e ¥ 3w el (@) =0 gl
Which of the following institutions acts as top level for fulfilment of financial needs in
rural areas ?
(1) NABARD (2) Reserve Bank of India
(3) State Bank of India (4) All of the above
109. T AT FHAAHES JIea] qRScaIeA™E) 3Ty4y Jvare SIeEdl 3gHad.
(1) fefam -3 ) f=fm-% @) feifim-= (4) f=fa- &
Deficiency of causes the disorder of reproductive failure in animals.
(1) Vitamin - E (2) Vitamin - K (3) Vitamin - B (4) Vitamin - A
110, ST WigaE GURUn 61 TR SEAddiHl 9 fefeergy :va=r e U
T sfiroRg Quron HEwE ' (NLRMP) a1 SUshaTE! gedid WIole Juid $vdld e
(1) 2008 (2) 2009 (3) 2010 (4) 2011
For the purpose of updation and digitisation the land records, the “National Land Records
Modernization Programme” (NLRMP) was started in the year .
(1) 2008 (2) 2009 (3) 2010 (4) 2011
111. ¥Rar ' yaifors Fotan’ yrifies g6eq _ A9 IR AR
(1) wuitew (ferrae w_w) (2) TRANE (FSTOT)
(3) WEH Hed (I9H) (4) P (TSTEF)

In India, the pilot project of geothermal energy is established at __

. (1) Manikaran (Himachal Pradesh) (2) Patancheru (Telangana)

(3) Khatkar Kalan (Punjab) (4) Kota (Rajasthan)

oAl HIHWE WRT /SPACE FOR ROUGH WORK
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- ( Jires weaywhnd ) : (e 9 )
(a) ‘gTRER’ () 1969
b ‘=& (i) 1983
() ‘fafy’ (i) 1992
d) ‘viEe’ (iv) 1962
waidt Sy

@ ® (© @
O ™ 0 G o
@ v @ 6 @
G @ O @ @
@ ™ 0 @ @
Match the correct pairs :

{Space organizétion/committee) (Establishment year)
(a) INCOSPAR (B 1969
() ISRO (i) 1983
) Antrix (i) 1992
(d) INSAT (iv) 1962

Answer options :

@ &) (g (d
N v @ @) (@
2 ) @ O @
Gy @ @ @@ @)
@ & @ @

FHoAT HIME A /SPACE FOR ROUGH WORK PTO
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113. ‘&' fohtw g ‘9" oo oo o SRifvaEE! el @ 9 o aja. g wala fagd
Taferar e gyfar,
(@) ‘& foreo FoioaT SRR hashioa Sl Mg freram, arsee ' fareol haer Scafeld
2.
b) ‘u fr fgageey T sRd o T e 0 g,
© ‘&’ vy wdeh aReR ' e w i e,
(d) oFEHrET=r TSR ‘4 TR IUEnT HE YeRd T

i I : )
(1) HH (o) 2) (@ 9()
3) (b)) 3 (d) (¢) =lw wd wag IFa AR

Some sentences which differentiate X-rays from -y-rays are given below. Select the proper
option to justify the difference.

(a) X-rays are due to energy changes emitted outside the nuclei whereas y-rays are
emitted by the nuclei.

(b) X-rays are electromagnetic waves but y-rays are not.
{c) X-rays have lower frequency than y-rays.

(d) X-rays cannot be used for the preservation of food.
Answer options : :

(1) (9 only . (@) (2) and (0
(3) (b) and (d) (4) all the above

114. YGRS |1 21 7ifoeh Stupvgn WYl IRAWR TeT WHiol FRia Sed SHil WY &Ral
W :
(1) 9GW (2) 578 GW (3) 5.92GW 4) 7GW
India currently has twenty one operating nuclea’r reactors at six locations across the country

with combined capacity totalling upto -
1) 9GW (2) 578 GW (3) 592 GW (4) 7GW

115. Fore faga S S wwt Tuiqomr w4 70 aga ?
(1) ¥R oifw fag g (2) uRfogd =92 &%
(3) wefaw %w (4) o-form 7

In which of the power generation-involve minimum number of steps of energy
conversion ?

(1) Solar thermal power plant (2) Solar photovoltaic cell plant

(3} Hydroelectric power station (4) Nuclear power plant

FEAT HHES T /SPACE FOR ROUGH WORK
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116. v frsia frem (faess) wdvam s+ 98 o adt @ ?

(1) 1920 (2) 1928 (3) 1925 (4) 1938
The first controlled fission of an atom was carried out in Germany in
(1) 1920 (2) 1928 ' (3 1925 (4) 1938

117, wﬂmmmmuﬁmﬁﬁwaﬁwﬁﬁwmﬁﬁ‘m. [CIEE
T foreaiid w1id S oTe. o sl

(1) RAPS - USiEgM Alfveeh {G3a Thed
(2) MAPS - He v foed Thed
(3) NAPS - =01 anfvaeh faR[ Wahed
(4) KAPS - i anfvas faga Thed

Abbreviations and corresponding longform of some atomic pow%r stations, in India, are
given below, Out of these longform one is wrong. Identify it.

(1) RAPS - Rajasthan Atomic Power Station

(2) MAPS - Madras Atomic Power Station
(3) - NAPS - Narora Atomic Power Station
(4) KAPS - Karnataka Atomic Power Station

118. NPT 37 CTBT 3+ia wdhtes A fa=ia =
(a) WRAW CHIY] YHIUS fa0y Fae TE st @ w9l fgoat el
(b) URER = favsa =l wiawy Sfaet (CTBT) dadt fdeh o, wig A9l faoed wrét.
Tt Foo faum/faum set o1ma ?
(1) ™ (a) (2) P (b)
() (2} b) (4) SRR
Consider the following statements about NPT and CTBT :
(@) India has neither signed NPT nor ratified it.
(b) India has signed CTBT but not yet ratified it.
Which of the statements given above is/are correct ?
(1) Only () () Only (b)
(3) Both (a) and (b) (4) Neither (a) nor (b)

THeAT HWHEG! 9T /SPACE FOR ROUGH WORK PTO
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119. 379 foreqa it fAfifdia o gme amea ?
(a) oNfTak §uAN 3N faEEHat ke Nfvas YRl =Tel g<dr.,
b foas Fa! facsar S T R,
(c) TR U[-FuA SUGH T,
(d) Wmmmmaﬁﬁaﬁmm

et I
(1) = Fd st (2) WH (a), (0), (d) TR
(3) W () S (@) W () T (d) KR

There are problems associated with nuclear power generation.
{(a) after fission of nuclear fuel emit harmful radiations.

(b) 1o dispose the nuclear waste is big challenge.

{c) non-availability of the sufficient nucledr fuel.

(d) accident may result in release of very harmful radiations.

Answer options :

(1) All are correct (2) Orﬂy (&), (c), (d) correct
(3) Only (c) correct (4) Only {c) and (d) correct
120. . B/% <9 wAYEH GRS ‘g’ 3 Frafaeun Siew yemer sdred 9 fquoE
LA/ Fl,
(1) a5 99 (2) "ra‘guag’
@) <M (4) v

is/are the first country/countries to start regular large scale manufacture
and marketing of solar cookers.

(1) India and China (2) China and USA
(3) China (4) India,

121. EHGUR! B YUl MG SEEE Gai{¥eh Ser= WaRR SIaUeiati e Te{auarare!
& R ? :
(1) GSLV-Mk I (2) GSLV-MKII  (3) GSLV-MK I  (4) GSLV-Mk IV

Which of the following is the heaviest rocket ever made by India till now, capable of
carrying Astronauts in space ?

(1) GSLV-MkI (2) GSLV-Mk II (3) GSLV-Mk 111 (4) GSLV-Mk IV

wHeedl RS ST /SPACE FOR ROUGH WORK
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122, GASIH! HIHE TF S G JATROREAE Tl G A 2
(1) v (2) afifs ag
(3) SifaF (@) Tafire 3R 9T /e
Which one of the following energy sources is not the environment friendly energy
source ?
(1)  Sunlight (2) Natural gas

(3) Biofuel (4) Wind with required velocity

123. WA a7 HRUE HE (ISRO) ¥ WUIGH Fomed %= (Liquid Propulsion System Centre)
oot Socdl fowmi fea oM ?
(1) s (FieH) (2 = (AT
(3) eEE (Jwm) (4) SEEEE (o)
The Liquid Propulsion Systems Centre (LPSC) of the Indian Space Research Organisation
(ISRO) is at : '
(1) Bengaluru (Karnataka) (2) Chennai (Tamil Nadu)
(3) Hpyderabad (Telangana) (4) Ahmedabad (Gujarat)

124, waifierdia, ‘@i faoe fea ‘o U u. ' fesaiien =ime s, 9™ & SR ;
(a) @ 'HiTH.US.' oA S T Sa.
(b) A 'HTH.TE.’ K08 5 F 6 92 W e feerara,
(c) W 'HiUETe.’ fetan @ .
(d) @ 'Hurue.’ K g faadm.

l'mf'iﬁ I ;
(1) K (b) _ (2) (@) F(c)
(3) WH (o) (4 T Hqd FROHS

At present, LED light bulbs are bettet than CFL bulbs mainly because :
(a) They produce more efficient light than CFL bulbs
(b) They last 5 to 6 times longer than CFL bulbs

(c) They are cheaper than CFL bulbs

(d) They are more attractive than CFL bulbs

Answer options :

(1) only (b) @ (@ and (©
(3) only (<) S (4) all the above reasons

el RS W /SPACE FOR ROUGH WORK PTO
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125. Shf.ug. & uw siafty snurd YSeimsdies wowelt =1 I ARSI 38 9 A
(1) o (2) =H (3) ATETEIR. (4) FWET
GPS is a space-based radionavigation system owned by __ government and
operated by its Air Force.
(1) India (2) China (3) USSR (4) USA
126. 99 WS WG T FOSd AFHIIE0 FEE 1.
(1) WATWEE (2) Wi (3) dhaidn (¢4) @,
Web browser software is progranuned according to _ standards.
(1) HTML (2 SMTP (3) POP (4) IMAP
127. GURRIE QURSAEY HTTP & HTTPS A1 SRiHicadidl 3wy Fiudl 9ié (port) TR wedht
rea ?
(a) 8080 3mftr 443 (b) 25 awfir 23 (c) 80 3nf1 404 (d) 80 =TT 443
TgiEr I
(1) (a) K (2) - (d) P
() (a) MW (d) wE (4) et FmE e
The well-known ports assigned to the computer communication protocols HTTP and
HTTPS are : )
(a) 8080 and 443 (b) 25 and 23 (c) 80 and 404 (d) 80 and 443
Answer options :
(1) (a) only (2) (d)only
(3) (a)and (d) only (4) None of these
128, WTORERHYS HRAE MHIAE driean SO fewme fomm soammidt 3Eh! g TaR FEh

S 3ed. T U TE Hg TR ?

(1) IeETe fape Fie B FHiTie geiaw

(2) 3 € WE BN FHRETH 20HH

@) 3SR fobe 8 B FHRATH dew

(4) I FF= FIs B FeTTHS s

The ISCH code has been prepared for writing scripts in Indian languages in computers.
What is the long form of ISCII ?

(1) International Script Code for Information Interchange

(2) Indian Standard Code for Information Interchange

(3) Indian Script Code for Information Interchange
(4) Indian Script Code for International Interchange
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129. EEGIT TEAAT Hfdl FE 7.
_ @ = (2) SreHed (3) TREEI (4) Fefre
‘Which of the following is not malware or virus ? _ . '
(1) Worm (2) Trojan Horse  (3) Spyware (4) " Caterpillar
130, s 37for wifed! <5- Hes, Wmmwﬁaﬁmmmmmw
1) fTesies fem oo 2 Ifea swicifeay fofiee . 0 ¢
(3) feshes fean wiwieA (4) e FEEcE T S
Media Asia Lab set up by Ministry of Electronics and Informationi Technology, Government
of India is now known as :
(1) Digital India Lab (2) India Informatics Limited " - -
(3) Digital India Corporation (4) National Informatics Centre
131, g AT R & U qER AW, S SiehAes Oy SEe.
(1) HLaem. 2 W, (3) H.HARAM. (4) . TH.TAM.
Bacillus thuringiensis produces a wide range of proteins that have insecticidal
properties. ' |
(1) Cri (2) Pri (3) Cry 4) SikK
132, Gret feosedn i) anfoy %qﬁwﬂmﬁmw
(a) TRIEHRE (b) IEHU () TEISAEE  (d) Hfmmw
gaiEy 39 ; o *
(1) (a) = (d) (2) () =i (d) (3) (@D . (4) .. (b))
Amongst the following and do not form compopents of a
Nucleoside. o N
(a) Phosphate (b) Sugar (c) Nitrogenbase (d) Magnesium
Answer options : : ’ o -
1) @and(d (@ (@Qand(d (3 @and (). (4 (b)and ()
133. wiifeg, & ety fasrre e ¥ CIEEHEN e 8.
1y Flw= (2) o @) TOREEREAS (1) SHReS

Cataract, a human genetic disorder is demonstrated by the deficiency ofthe enzyme

(1) Urease . (2) Catalase (3) Galactokinase (4) ZAm}flase
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134, WA 9 FYH FioA AGHLE [HAS Ganad 137 (4), diemam 281 (&) Fi=n gHe S
(1) <A Ft foamie, Teae
(2) I ", ST
(3)  THREA A G, e
@) ey fEmidn o fem &, T

Diagnostic kit for rapid detection of recombinant cry 1A(c), cry 2A(b) promoter genes in
seeds of rice and cotton has been developed by

(1) Dapoli Krishi Vidyapeeth, Maharashira

(2) Shantha Biotech, Bangalore

*(3) Institute of Chemical Technology, Mumbai
(4) Center for DNA Fingerprinting and Diagnostics, Hyderabad
135. 1980%@3@@%@@31&%%@1% ek U G&H 9ogEe
TTAR 3T,
1) iR (2) ﬁaﬁnm (3) RS () FE-mm

The first animal patent issued in the early 1980's to Harvard University for a mammal
was named as .
(1) Dolly (2) Oncomouse (3) Idaho Gem (4) Noto - Kaga

136, fuge fig FaEd TPiots SR 45 AT IR ?

(1) TowEH 2 Eluar femdidn
() ST Feddm (4) AT
Which of the following technigue is used to prove the paternity of child ?
(1) ELISA (2) DNA Fingerprinting
(3) DNA Footprinting (4) Cloning
137. SR fagm @ __ @

1) s @ifus gt
(2) Afaerfaa srfeusi
(3) TheRiAmsA HAAW
(4) DR FHA

DiGeorge Syndrome is caused due to the

(1) Failure of development of thymus

(2) Failure of development of bone marrow
(3) Calcium deficiency

(4} Iron deficiency

THeeAT HIFTHAS 9T /SPACE FOR ROUGH WORK
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A HHHE HHAT THI Had NS, ThHied] ST TAY, =1 TH GIE 3544,

138.
(1) o (2) fuatw (3) &®WEH (4) dTRREES
are infectious agents composed exclusively of a single piece of circular single
stranded RNA. :
(1) Viruses (2) DPrions (3) Viroids  (4) Bacteriophage
139, W - [ 99 Faia ®W - 11 Fyedr 9y gaigised e

W -1 Wy -1
(a) 2rrue uwi () &N ¥e wH Ui sada
(b) gldide et (i) =N WA YA SR W A YO ST &
(c) TR Ut (i) & @ Ul ffrea Tt s eeara qur Sgof 1y

' 599 7Hd e

it I

a) (b} (o)
1 ® @ G
@ @ @
@) @ @ @
@ @O @@ @ |
Match the Column - [ with appropriate answer in Column - II :

Column - [ Column - 1
(a} Totipotent cells (i)  Are adult stem cells
(b) Pluripotent cells (i) Stem cells capable of giving rise to any cell type

or a complete embryo

(c) Multipotent cells (iii) Stemcells capable of giving rise to several cell types

Answer options :

1)
()
()
(4)

@)
®
G
()
0

(®)
(i
i
(i
(i)

©
(@)
0
®
@

but cannot form a fetus
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140. S N geadt geaige arfia o dmen fREmE 0 et |
T Ul AT aT S .
(a) ToEw (b) Hdl HaLA (©) WAL (d) PediRw/ AT
TG 3
1) @ (). (). (b} (@) G} (@) (d) (4) (b (0
o and___ are the two methods that are more and more used for detection
of diseases transmitted by seed and planting material.
(a) ELISA (by Tissue Culture (c) PCR (d) Cloning
Answer options :
1) (@ ). . (2 () (d) ©G) @ (d) @ ) (9
141, FHRATA UHT WU WY e TAR HIOATSA SR ArAden TEUI.
(1) T &l (2) EHEE (3) AR (4) wRioEETE

Genetic potential of plant cell to produce entire plant is called as

(1) Power house ‘(2) Totipotency (3) Germination (4}  Fertilization

142, GIO@UH! HI0E/A GG TR AR/ ?
(a) o ThtderEl W 8 Uh JETH) T T
(b) =M ¢ 5y oy =1 uF UEn AR,
() Ter Tra safavarnd! =gl mari=n SRS AR TaS! A9 .
() R T et A fer am
Tt 3
(1) % (b) (2)  (a) (b) G (@) (d) (9) H (o)
Which of the following statement/s is/are false ?
(a) Fermented apple. cider is not considered as wine.
(b) Chardonnay is a variety of Vitis vinfera.
(c) Sugar could be added to certain grape sps to produce stable wine.
(d) Wines with less alcohol are stable.
Answer options :

(1) Only (b) 2} (a) (b) 3y (@) (d) (4)  Only (9
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143, Ggfea &1 gEw [Eﬂm@] 3 ildRal Havas T [3UHITH.] &

144.

A G AR S,

(1) o A Haede L (2) WOl &t e
(3) OIS A (4) Senj=n aaE]
Balanced Salt Solution [BSS), Eagle’s Minimal Essential Medium [EMEM] are used mostly
in__
(1) Plant tissue culture (2) Animal tissue culture
(3} Hydroponics (4) Bacterial growth
o 3 A digeret Qe vea I ared TeE i g A st
S H S,
(1) HTRR o e () gl 9 gegd
(3) drad! 3 Sl (4) W I AT
and are patented rice products claimed t§ be equivale‘nt& or superior
to Indian Basmati.
(1) Jasmati and Texmati (2)  Sonmasuri and Sonsuri

(3) Peekvati and Longvalti (4) Sajmati and Akra

145.

THoAT hIHMETS! ST /SPACE FOR ROUGH WORK

RE TEHIT S HAGAR 2014 Hef Y& Hoed! ' v Sger(s’ o1 ST 989

(1) yeuie Riorger

(2) &SR e arefan

() ST oTEdT T of o TR T 3 qer aq sHeR
(4) . FAFTAET fred 201

Govt. of India’s Health Ministry’s programme "Mission Indrad_hanush' launched in 2014
deals with ___ .

(1) Male sterlization
(2) Increasing crop per drop
(3) Fully immunizing children and pregnant women with all available vaccines

(4) Funding for cloning

P.T.O.
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146. i ol VRS FRTuet A O SO A ST WIS W a,

1) 1 fedsw 2004 @) 26 Tl 2004

(3) 26 fedar 2001 @ 1 fedit 1993

Indian coast was said to be free from Tsunami disaster before

(1) 1 December 2004 (2) 26 December 2004

(3) 26 December 2001 (4) 1 December 1993

147. WHEYH! RN AU aEw g ?
(@) uel, &N wew AeRfaw anftn erteRRa arEam.
(b) TR fhan s & el g2 angd T/ THeA 7 i aone e,
(¢} yhu 3nfir @ “afife amgd s
'ﬂ'ﬂfﬁ E‘Fﬂl H
1 @sfae @ Ee @) wHow (4) W ()
Which of the following statements are true ?
(a) Disasters, which are often sudden and intense.
(b) A hazard is a natural event while the disaster is its consequence.

(c) Earthquakes and floods are the natural disasters.

Answer options :

(1) {(a) and (b) (2) (b} and (c) (3) Allof the above (4) Only (c}
148. 30 ¥R 1993 it Hig O TR (HENR) Shure e B,
(1) 63 TR & @ 73R &
3) 830 &@ (@) 53 R &
___ the magnitude of Latur (Maharashtra) Earthquake was recorded on 30 Sept.
1693,
(1} 6.3 Richter Scale (2) 7.3 Richter Scale
(3) 8.3 Richter Scale " (4) 523 Richter Scale
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149. A € AR B .

(1) W 2) W= (3) sERfrm (4) U

The word ‘Tsunami’ is basically '

(1) Russian (2) Indian (3) Indonesian {4) Japanese

150. & werarrrem 9@ feda 2017 9 =@y Ml 9ol. o Shiace™ 9@ %1 ?

(1) o= (2) efem (3) @R (4). . 3irE
What was the name of Cyclone appeared at North Indian ocean in December 2017 ?
(1) Laila (2} Katrina (3) Vardah (4) Ockhi

‘;000-
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Al — (7= 1 67 q4....)

@) Wi fafen oo fafore sl w2 W (3% 4) 08, wwyfadeafifie Jawbrereg @
TR FRIE Fel FW Fedrd o HO Foqr SHAH FS 2%, FY TIFS T3P 9 WIER IHTERTE
METH AR e ¢ oRaimd gromr TRy wiey svaEaay Afufan-g2" e TREEiTER SRAE
HOG Y5@ 9 QY HI FUS T aNig] SRIETE Fif/fa F9 TE g s deren e
I 383,

© T wufrErad oMy fafea Fh o Huewda SHTawel & wryfew @ S TheTHREe
UHT TOAE YT AR, WA QO Wt Wuargdl U aeal STl WiT-)
AAAgRTGE A forwar a0 ey K

T W

9. %, 201,

AT U
201. WAE WS TE FIOGEE 0l Jod: 79 S0 2
(1) i JEER wRE () wEEs TR
@) T THHE 19 () TR TGS
B SR AT I (3) TS U U9 N O ®Ie 1 W S @) ERe. I
GRATIRIT Y9 3. 201 Fuile Ia-Faies (3)"' ¢ wife i vl Fe qrafe stevaw
o
ONON NOJ
W UgdR Wgd TRk die TaE Iyl qEEl STGhRHE @ gren aaden Raee
TemfaFala = @ TeEniseEie ddfyd 9y Swifed e sraam. g
WER SRTEAT T St andad, Afus ar i W aue 1@
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